
Home » Stinger » Stinger iX212 Modular Multimedia Display System Installation Guide  

Contents
1  Stinger iX212 Modular Multimedia Display System Installation
Guide
2  PRECAUTIONS
3  Parts List
4  Hardware Guide
5  Installation Using A Dash Kit
6  Wiring and Connections
7  1. Pre-Assembly
8  2. Display Bracket Assembly
9  3. Display Assembly Horizontal
10  4. Display Assembly Vertical Center Position
11  5. Display Assembly cont;
12  6. Multiple Mounting Options
13  7. Removing the Display Panel:
14  8. Accessory Control Wiring
15  Accessory Control Wiring Relay Diagram
16  Wake-Up Wire Diagram
17  Troubleshooting
18  Upgrades/Options
19  Documents / Resources

19.1  References
20  Related Posts

Stinger iX212 Modular Multimedia Display System Installation
Guide

Manuals+ —  User Manuals Simplified.

https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/stinger
https://manuals.plus/stinger/ix212-modular-multimedia-display-system-manual.pdf
https://manuals.plus/#stinger_ix212_modular_multimedia_display_system_installation_guide
https://manuals.plus/#precautions
https://manuals.plus/#parts_list
https://manuals.plus/#hardware_guide
https://manuals.plus/#installation_using_a_dash_kit
https://manuals.plus/#wiring_and_connections
https://manuals.plus/#1_pre-assembly
https://manuals.plus/#2_display_bracket_assembly
https://manuals.plus/#3_display_assembly_horizontal
https://manuals.plus/#4_display_assembly_vertical_center_position
https://manuals.plus/#5_display_assembly_cont
https://manuals.plus/#6_multiple_mounting_options
https://manuals.plus/#7_removing_the_display_panel
https://manuals.plus/#8_accessory_control_wiring
https://manuals.plus/#accessory_control_wiring_relay_diagram
https://manuals.plus/#wake-up_wire_diagram
https://manuals.plus/#troubleshooting
https://manuals.plus/#upgradesoptions
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts


Stinger iX212 Modular Multimedia Display System Installation Guide

MODEL NUMBER: iX212

 

 PRECAUTIONS

Visit Stinger Solutions.com for updates and further information.

TECHNICAL SUPPORT: 727-592-5991
Email: support@stingersolutions.com

CUSTOMER SOLUTIONS: 727-803-0285

http:
https://phone.gd/phone/727-592-5991
https://phone.gd/phone/727-803-0285


15500 Lightwave Drive, Suite 202 Clearwater, Florida 33760

 

AGREEMENT: End user agrees to use this product in compliance with the instructions and terms of use and with
all State and Federal laws. STINGER provides instructions and safety warnings with respect to this product and
disclaims all liability for any use not in conjunction with those instructions or other misuse of its product. If you do
not agree, please discontinue use and contact STINGER. This product is intended for off-road use and passenger
use only
©2024 Stinger. All rights reserved.

 

Parts List

Optional Accessories (SOLD SEPARATELY)

 

Hardware Guide



NOTE: Depending on the installation, not all hardware will be used.

Only use designated screws as stated in this manual. Using the wrong screws will result in damage to internal
components, which is not covered under warranty.

M4 holes are optional (M4 hardware is not included).

Dimensions (in)



 

Installation Using A Dash Kit

1. Hold the iX212 display in front of the factory radio and determine if you would likethe display to be mounted

vertically(portrait) or horizontal(landscape).

2. Follow the Dash Disassembly instructions that are included with your specific dash kit.

3. Assemble the iX212 radio module onto the dash kit (see page 16).

4. Wire the iX212 26 PIN Power/Speaker harness to your aftermarket wire harness (see page 8).

5. Connect the iX212 26 PIN harness to the radio module.

6. If the aftermarket wire harness has a factory back-up camera connection, connect the 16 PIN AV/Rear Camera



harness to the iX212.

7. Connect the aftermarket RCA to the Reverse Camera input RCA on the iX212 (see page 9).

8. Mount the GPS antenna from the iX212 somewhere inside the vehicle that has visibility to the sun. Note: Under

plastic panels is ok as long as it’s close to the windshield and not under metal (FIG.1).

9. Route the GPS antenna to come out where the aftermarket radio was located.

10. Connect the GPS antenna to the iX212 radio module.

11. Connect the vehicles antenna wire to the iX212 radio module. Note: some vehicles will need an antenna

adapter (not included).

12. Connect the iX212 LVDS connector to the radio module (see page 17, FIG.J).

13. Plug in your aftermarket harness to the vehicle harness.

14. Temporarily connect the LVDS harness to the iX212 Display (see page 17, FIG.K).

15. Test the basic functions of the iX212.

16. Once the functional testing has been completed, remove all the cables plugged into the iX212 radio module.

17. Follow the Dash Kit Assembly instructions (reference pages 16-19).

 

Wiring and Connections

26 Pin Power / Speaker Harness

Connect radio power and speaker connections to a vehicle specific harness (sold separately) referencing diagram
below.



 

 

Wiring and Connections

16 Pin AV / Rear Camera Harness



Audio/Video Inputs & Outputs / Rear Camera Video Input
NOTE: For Camera set-up, refer to the HORIZON12 User Guide

Suggested: Adding the external microphone for optimal performance

 

14 Pin Data and Accessory Control Wire Harness
Steering Wheel Control, Accessory Control, ENLIGHT10 Connection
NOTE: For Steering Wheel Control information, refer to the HORIZON12 User Guide
For information on connecting the Accessory Control wires see page 22



 

 

12 Pin PRE-Out Harness
Audio Outputs Front, Rear, and Subwoofer



 

 

1. Pre-Assembly

Single or Double Din Applications: Align the Nose Bracket onto the Radio module where the NAV Card Slot lines
up and the 2 locator pins on the back of the Nose Bracket line up with the 2 holes on the front of the radio module.
Attach the Nose Bracket to the radio module using M3 X 6 screws at the locations indicated.



 

2. Display Bracket Assembly

Read Steps 2-4 to understand how the HORIZON12 assembles before starting the installation process.
The display can be installed flat or with a slight angle for a better viewing angle. Loosen or remove the screws on
the Display Bracket. (FIG. A). Loosen the screws, or move the screws for the best viewing angle (FIG. B / C).



 

 

3. Display Assembly Horizontal

The Display Bracket can be mounted Right-side up (FIG.D) or Up-side down (FIG.E). Determine how the Display
Bracket needs to be mounted for your application. NOTE: Ensure the LVDS Display Cable can still plug-in after the
bracket is in the desired location (FIG F). You may need to rotate the Display Bracket for the LVDS cable to plug-in
properly (FIG. D/E). Use four M4 x 10 supplied screws to hold the bracket in place. NOTE: Do not tighten the
screws until the last installation step.



 

4. Display Assembly Vertical Center Position

The iX212 can be mounted verticaly. To mount vertically, the Universal Mounting Bracket will need to be
disassembled (Fig G). Locate the provided Vertical Mount Bracket and assemble to Monitor Mount Bracket (Fig
H). Determine the proper height for monitor location. Identify appropriate mounting holes that the Display Bracket
will need to mount, for your application (Fig I). NOTE: Ensure the LVDS Display Cable can still plug-in after the
bracket is in the desired location. Use four M4 x 10 supplied screws to hold the bracket in place. NOTE: Do not
tighten the screws until the last installation step.



 

 

4A Display Assembly Vertical Off-Center

To mount the iX212 vertically, off-center, the Universal Mounting Bracket will need to be used (Fig J). Determine
the proper height for monitor location. Identify appropriate mounting holes that the Display Bracket will need to
mount, for your application (Fig K).
Use four M4 x 10 supplied screws to hold the bracket in place. NOTE: Do not tighten the screws until the last
installation step.



 

 

5. Display Assembly cont;

Align the 4 shoulder bolts on the Display Bracket attached to the LCD Panel with the 4 key holes on the Nose
Bracket and push forward.
Once the 4 shoulder bolts are aligned properly, slide the LCD assembly to the left to lock the assembly to the Nose
Piece.



 

6. Multiple Mounting Options

HORIZON12 can be configured for different mounting applications:

6A Single or Double DIN Dash Kit:
Radio chassis mounts to the kit brackets in the sub-dash, not to the kit main frame Display Adjustment &
Mounting:

1. Slide the Radio Module into the dash kit opening.

2. Find the best location for the Radio Module to mount into the dash kit (FIG G).

3. Use the 4 supplied M5 x 10 screws to hold the Radio Module in place (FIG G).

4. Attach the Display assembly to the Radio Module (see page 15) and check fitment (FIG H).



5. Adjust the display as desired. Remove the display to adjust if necessary. (see page 13).

6. Once you have the desired viewing angle, remove the display and then remove the Locking M3 X 5 screw from

the Nose Bracket (FIG I).

7. Connect one “end” of the LVDS cable to the radio module (FIG J).

8. Connect the other end of the LVDS cable to the Display (FIG K).

9. Slide down the LVDS Connector Rear cover onto the back of the Display (FIG L).

10. Use the supplied M2.6 X 6.5 screw and mount the rear cover (FIG M).

11. Attach the Display to the Nose Bracket until the lock engages with a click sound (see page 15).

NOTE: If the rubber covers or LCD cover are not installed the LCD will not be IP65 rated. Warranty is void if water
damage occurs.

 

6A. Using a Single or Double DIN Dash Kit cont;



 

 

6B Using Factory Radio Brackets:
Radio chassis mounts to the factory brackets in the sub-dash

Display Adjustment & Mounting:

1. Use all four mounting screws and attach the radio module to the factory brackets (FIG N).

a. Included (4X) M5 X 10 screws to mount the (radio module).

b. Not included (4X) M4 X 10 screws to mount the (radio module).

2. Attach the LCD to the Radio Module (see page 15).

3. Remove the display panel and follow instructions to adjust the display angle (see page 13).

4. Once you have the desired viewing angle, remove the Locking M3 X 5 screw (see page 17, FIG. I).

5. Connect one “end” of the LVDS cable to the radio module (see page 17, FIG J).

6. Connect the other end of the LVDS to the Display panel (see page 17, FIG K).

7. Slide down the LVDS Connector Rear cover onto the back of the Display panel (see page 17, FIG L).

8. Use the supplied M2.6 X 6.5 screw and mount the rear cover (see page 17, FIG M).

9. Attach the LCD to the Nose Bracket until the lock engages with a click sound (see page 15).

NOTE: If the rubber covers or LCD cover is not installed the LCD will not be IP65 rated. Warranty is void if water

damage occurs.



6B New holes in the factory brackets may need to be drilled for optimal screen position

1. Measure the hole span in the radio module mounting holes (2.3 inch).
2. Measure the height of where you want the radio module mounted.
3. Mark your holes on both sides of the brackets and drill two 13/64 holes on both sides of the brackets.
4. Mount the 2 brackets to the radio module using the four supplied M5 X 10 screws.
5. Install the assembly (from Steps 1-4).
6. Attach the display to the radio module (following Steps 4-11, page 16).

 



 

7. Removing the Display Panel:

In the event the display panel needs to be removed, follow the instructions below to prevent damage to the vehicle
trim, radio display and installation kit.



 

7A Removing the Display Panel Cont:



 

 

8. Accessory Control Wiring

The HORIZON12 has the ability to control 4 different devices from the Accessory Control app on the radio.

WARNING! The Accessory outputs MUST be connected using Relays, or SWITCHHUB.



If you do not follow these instructions you will DAMAGE the HORIZON12 radio module.
THIS WILL NOT BE COVERED UNDER WARRANTY!!!

A. Diagram using a SPXHS440 (SWITCHHUB)

1. Connect 12V to the port on the SWITCHHUB labled Battery.

2. Connect Ground on the SWITCHHUB labled GND.

3. The larger terminals on the SWITCHHUB will connect to your Accessory devices, (Rock Lights, Whip Lights,

etc).

4. Connect the Accessory switch wires from the HORIZON12 to the connections labled – 1, 2, 3, 4.

NOTE: Connect the NEGATIVE terminals 1, 2, 3, and 4 not the positive terminals.

B. Diagram using a standard 12 volt relay

1. Connect PIN 85 to any of the Accessory Control wires on the HORIZON12 (White/Black, Gray/Black,

Green/Black, Purple/Black).

NOTE: If connecting multiple devices you will need one relay per Accessory Control wire.

2. Connect PIN 30 to the device you want to power on, example (Off-Road lights).

3. Connect PINS 87 and 86 to 12 volt power source.

NOTE: Must add a fuse to the 12 volt wire before the positive battery terminal, see diagram on next page.

 

Accessory Control Wiring Relay Diagram



Wake-Up Wire Diagram

(Optional not needed for normal operation)
The HORIZON12 has the ability to start powering up, before the vehicle has been started for a faster boot-up. Use
one of the Wake-Up Pulse wires + = Positive trigger, – = Negative trigger.

Using Wake-Up Pulse +

1. Locate the vehicles positive unlock wire, this will be the wire that sends 12 volts to the door lock to unlock the

vehicle.

2. Connect the Yellow/Green wire (Wake-up pulse +) from the 26 Pin Power Harness to this wire.When you unlock

the vehicle the radio will start its boot up process.

Using Wake-Up Pulse –

1. Locate the vehicles negative unlock wire, this will be the wire that sends a negative to the door lock to unlock

the vehicle.

2. Connect the Yellow/Black wire (Wake-up pulse -) from the 26 Pin Power Harness to this wire.When you unlock

the vehicle the radio will start its boot up process. When you unlock the vehicle the radio will start its boot up

process.

NOTE: During the boot up process from the Wake-Up wire, the radio display will not turn on until the vehicle
accessory has been turned on.
The default Wake-up time is set to 5 min, this can be changed in the installer settings menu



NOTE: If your vehicle does not have a negative or positive door unlock wire locate the vehicles wire that turns the
dome light on when the vehicle is unlocked.

 

Troubleshooting

General

Black Screen with Audio
Touch the screen anywhere as it may have been turned off.
Ensure the display cable on the back of the display is fully locked into place and also properly connected at the
back of the radio module.

Bluetooth

Device will not Pair
Ensure Bluetooth is turned ON in your device settings. Delete all unused devices. Delete any “Stinger” device.
Restart/Reboot device and try pairing again.

Music Volume is low
– Turn up volume on device
– Turn up volume on head unit
– Turn up Main Bluetooth Music Gain
(AUDIO SETTINGS > ADVANCED > SOURCE GAIN > BLUETOOTH MUSIC.

Phone Volume is low
– Turn up volume on device
– Turn up volume on head unit
– Turn up Phone Volume Gain
(AUDIO SETTINGS> ADVANCED > PHONE VOLUME.
– Turn up Mic Gain
(MENU > PHONE > SETTINGS)

No Microphone / Voice Control
– Set Microphone location
– (SETTINGS > MICROPHONE).

Apple CarPlay

Apple CarPlay will not start/launch
– Ensure an Apple certified cable is being used



– Ensure cable is plugged into USB C port.

Android Auto
– Ensure a USB certified cable is being used
– Make sure Android Auto app is ..downloaded and installed on your device.
– Ensure cable is plugged into USB C port.

SiriusXM Satellite Radio

Check Antenna
The radio has detected a fault with the SiriusXM antenna. The antenna cable may be either disconnected or
damaged.
– Verify that the antenna cable is connected ..to the SiriusXM Connect Vehicle Tuner.
– Inspect the antenna cable for damage and kinks.

Replace the antenna if the cable is damaged.
SiriusXM products are available at your local car audio retailer or online at www.shop.siriusxm.com.

Check Tuner
The radio is having difficulty communicating with the SiriusXM Connect Vehicle Tuner. The tuner may be
disconnected or damaged.
– Verify that the SiriusXM Connect Vehicle ..Tuner cable is securely connected to the ..radio.

No Signal
The SiriusXM Connect Vehicle Tuner is having difficulty receiving the SiriusXM satellite signal.
– Verify that your vehicle is outdoors with a ..clear viewof the sky.
– Verify that the SiriusXM magnetic mount ..antenna is mounted on a metal surface on ..the outside of the vehicle.
– Move the SiriusXM antenna away from any obstructions. Inspect the antenna cable for damage and kinks.
– Consult the SiriusXM Connect Vehicle tuner installation manual for more information on antenna installation.
Replace the antenna if the cable is damaged. SiriusXM products are available at your local car audio retailer or
online at www.shop.siriusxm.com.

Channel Locked
The channel that has been requested is Locked by the radio’s Parental Control feature. See the Parental Control
section, on Page 17 of the User Guide available on the Stinger website, for more information on the Parental
Control feature and how to access locked channels.

Subscription Updated
The radio has detected a change in your SiriusXM subscription status.
– Press anywhere on the screen to clear the ..message.
In the U.S.A., visit www.siriusxm.com or call 1-866-635-2349 if you have questions about your subscription. In
Canada, visit www.siriusxm.ca or call 1-877-438-9677 if you have questions about your subscription.

Channel Unavailable
The channel that you have requested is not a valid SiriusXM channel or the channel that you were listening to is
no longer available. This message may also appear briefly when first connecting a new SiriusXM Connect Vehicle
tuner.
Visit www.siriusxm.com for more information about the SiriusXM channel lineup.

Memory End
This message will display when the beginning of stored audio has been reached. You cannot rewind any further.

Memory Full
The stored audio memory has become full while audio was paused. Resume playback.

https://phone.gd/phone/866-635-2349
https://phone.gd/phone/877-438-9677


Channel Unsubscribed
The channel that has been requested is not included in your SiriusXM subscription package or the channel that
you were listening to is no longer included in your SiriusXM subscription package.

In the U.S.A., visit www.siriusxm.com or call 1-866-635-2349 if you have questions about your subscription
package or would like to subscribe to this channel. In Canada, visit www.siriusxm.ca or call 1-877-438-9677.

Video/Cameras

Rear Camera not displaying in reverse
– Make sure rear camera trigger is ON – (CAMERAS > CAMERA SETUP)
– If display is showing NO SIGNAL in reverse, ..ensure camera RCA is plugged into ..correct RCA input(CAMERA
IN).
– Confirm camera has power and ground.
– Confirm camera trigger is receiving ..positve12V.
Note: 4 Camera Video Inputs Support:
NTSC, PAL, AHD 25mhz & AHD 30mhz Video format. Mirror camera Image.

 

Upgrades/Options

https://phone.gd/phone/866-635-2349
https://phone.gd/phone/877-438-9677


 

StingerSolutions.com
Copyright © 2024

 

Read More About This Manual & Download PDF:

Documents / Resources

Stinger iX212 Modular Multimedia Display System [pdf] Installation Guide
iX212 Modular Multimedia Display System, iX212, Modular Multimedia Display System, Multim
edia Display System, Display System, System

References

 Home - AudioControl

 EchoMaster – Aftermarket Vehicle Safety Products for Consumer and Commercial Drivers

 PAC-Audio

 SiriusXM: Music, Sports, Talk & Podcasts, Live & On Demand

 Stinger - Define Your Drive

 SiriusXM: Music, Sports, Talk & Podcasts, Live & On Demand

User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.

http://stingersolutions.com
https://manuals.plus/m/8720a4e081559478c00be88580b46f2ae7297010532cbbcc17a3f5abc7c19320
https://manuals.plus/m/8720a4e081559478c00be88580b46f2ae7297010532cbbcc17a3f5abc7c19320_optim.pdf
http://audiocontrol.com
http://echomaster.com
http://pac-audio.com
http://siriusxm.com
http://stingersolutions.com
http://www.siriusxm.com
https://manual.tools/?p=15571762#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	Stinger iX212 Modular Multimedia Display System Installation Guide
	Stinger iX212 Modular Multimedia Display System Installation Guide
	PRECAUTIONS
	Parts List
	Hardware Guide
	Installation Using A Dash Kit
	Wiring and Connections
	1. Pre-Assembly
	2. Display Bracket Assembly
	3. Display Assembly Horizontal
	4. Display Assembly Vertical Center Position
	5. Display Assembly cont;
	6. Multiple Mounting Options
	7. Removing the Display Panel:
	8. Accessory Control Wiring
	Accessory Control Wiring Relay Diagram
	Wake-Up Wire Diagram
	Troubleshooting
	Upgrades/Options
	Documents / Resources
	References



